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(C) watched,

Addal247

Direction (Q. Nos. 1 to 23) : Answer the following questions as directed choosing the
correct alternatives : |

' Animals of the forest (suffer) for want of food and water every summer. The correct form of

the verbis:
(A) suffers (B) suffer

. (Ey’me suffer ' (D) suffered
Forest ﬁf"e (add) to their woe. The correct form of the verb is :
(A) adding (B) isadded
(C) add | \ (D) adds
Paﬂicularly,l they . not get waéer to drink.

Which is the gﬁrrect modal to complete the sentence?

(A) can j | ®) will
(C) would - ' _ (D) should
Which of the following ! ;I;e;mnmz;tically correctsentence ?
(A) A tusker strayed into ouir village last night. ‘

(B)  Atusker has strayed into our village last night.

(C)/ A tuskefi:' :‘Nas strayed into our village last night.

- (D) Atuskeris strayed into our village last night.

All our efforts th away failed miserably.

The correct non-finite verb to complete the sentence is :

(A) dnving | (B) driven
(CY todrive (D) drive
We could do nothing but __- his movements silently.

_ The correct non-finite verb to complete the sentence is :

- (A) towatch (B) watching

(D)) watch
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~(C) Because

Deforestation causes distress to wild animals.

This can be changed into passive voice as :

(A) Distress has been caused to wild animals by deforestation.
@ Distress is caﬁscd to wild animals by deforestation.

(C). Distress was caused to wild animals by deforestation.

(D) Distress had been caused to wi.ld animals by deforestation.

7 i . )
We have concern for wild animals.

Which is the correct modal to complete the sentence ?

(A)/ should (B) would
The soldier is very clever. s ol :

This can be changed.into an exclamat;axy sentence as :
(A) Howvery cleverasoldier! % (9)/ - How clever the soldier s !
(C) Whatclever soldier!
He is too old to learn new tﬁcks._ This can be chaﬁged into a complex sentence as :
(A)I He is very old and he cannot Jearn new triclicé.l

(B) ' Heis so old that he cannot learn new tricks. |

(C) Asheis very old he willnot learn ncv? tricks.

(D)/ Heis very old for which he does not learn néw tricks.

_he worked hard, he could not get success.

The correct cdhnector to fill in the blank is:

(A) Since | _ B) As
(9} Even though

I know that he is very brave. The underlined noun clause acts as :

A) -Subject ofthe sentence !

((%A complementofaverb (D) ' Anobject ofa preposition

(D) Howcleveris the soldier!

(B) Object of a transitive verb

P.T.O.
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All that glitters is not gold. The underlined clause is a/an _________._

Pick out the correct alternative.

(A) Nounclause (B) Non-definingrelative clause .

(C) Definingrelative clause ‘ (D) Adverb clause
The soldicr said to me, “I have fought many batltles.“

This sentence can be changed into indirect speechas :

(A) _ The soldier told me that he had fought many battleS‘.’—'y

(B) The soldier told me that he has fought many battles. ><_

(C) Thesoldiertold me that he fought many battles.

(D) Thesoldiertold me that he could fight many battles, ¥

Raju asked the soldier if he had won all the battles. |

This sentence can be changed into ;iirect spéech as:

(A) Rajusaid to the soldier, “Has ];u_e wonall the battles?\_
®) 4 Rain il 1o the soldier, "CouldyouWiallthabilles” -
(C) Rajusaidtothe soldiér, “Do ydli wm all the battles?”

(D)  Raju said to the soldier, “Did you winall the battles?”

Colonel Das was the smartest commander in his regiment.

This sentence can be rewritten 1n the compérative degreeas:

(A) ColonelDaswas smarter than any other commander in his regiment.
(ByNo other commander in his regiment was as smart as Colonel Das.
(C). Colonel Daswas asmarter commander i1|1. his regiment.

(D) Very few commanders were smarter than Colonel Daé in his regiment.

Which of the following sentences is grammatically correct?

(A) Themanismortal. . (B) Therose smells sweet.
(C} The camel is called ‘ship of the desert’. (D) The water freezes at 0°C.

4.° ' Contd.
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A man of must be a man of care.

The correct word to complete the sentence is :

(@,),» truthfulness (B) truthful
(C) tuth _ (D) true
The sick man passed away

The correct expression to fill in the blank is :

(A) peace (B) peaceful
(C) peacefulness (D) peacefully
My friend is extremely good ___poetry. Identify the correct preposition.

Win ' B) at

(©C) with (D) for

A farmerisa _. citizen of a nation.’

Pick out the correct word to compléte the sentehce_.'

(19/ responsible ' (B) responsibly
(C) moreresponsible (D) most fesponsible
Which of the following sentenc.es is grammatically correct?

(A) A farmerisleading o e T

(B) His sheeps follow him to his field.

(C) Hiscows give himmilk.

(D)/He has bought new furnitures for his house.

[ congratul;atc you ______yoursuccess.

The correct preposition to fillin ﬂmblank is:

(}a/for . B) to

(C) about (D) on

PT.O.
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The jobeventually fell to Paris, son of King Priam of Troy,

Direction (Q. Nos. 24 to 30): Read the passage below and answer the questlons that follow
choosing the correct allemauvcs

The Trojan War is one of the most f; amous wars in history. It is well known for the ten-year
long war between the Greeks and the Trojans and the heroism of a number of legendary

warriors, and for the Trojan horse. What Y not be familtar, however, is the story of how the
war began.

According to Greek myth, the strife between the Trojans and the Greeks started at the

wedding of Peleus, King of Thessaly, and Thetis, a sea nymph. All of the gods and goddeﬁses

had been invited to the wedding celebration in Troy except Eris, the goddess of discord. She
had been omitted from the list of guests because her presence always caused quarrels between

mortals and immortals.@
. - (.—-—'—'_'_'—.-_.—_

To take revenge on those who had insulted her, Eris decided to cause a conflict. Into the
middle of the banquet hall, she threw a golden apple marked “for the most beautifil., ”Allthe
goddesses began to quarrel over who should possessit. The choice was narrowed to Hera,

Athena, and Aphrodite. Someone Was needed to settle the controversy by picking a winner.

who was said to be a good judge

of beauty. Paris did not have an easy job. Each goddess, eager to win the golden apple, tried
hard to bribe him.

Hera said, “Give me the prize, and] will make you the most 'poWerfuJ king in the world.”
Athena said, “No one will be able to match your wisdom ifyou give me the apple.” Aphrodite

smiled at the youth and said, “Giveitto me, and you shall have for a wife the most beautiful
woman in the world.”

"

Paris awarded the golden apple to Aphrodzte and from that moment Hera and Athena hated
him and his family. Aphrodltc offered Helen, the daughter of Zeus and the most beautiful

woman inthe land, to Paris, Pans was very anxious to claim Helen and set off for Spartain
Greece

In Sparta, Paris learned that Helen was the wife of King Menelaus of Sparta. He .accepted
the hospltallty of King Menelaus and stayed in his palace as an honourabie guest for a few
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days. As soon as Helen saw Paris, she fell in love with him. She eloped with Paris carrying

-muchof the king’s wealth with her and they fled to Troy. Menelaus was mad with anger and

vowed revenge. He collected his loyal Greek forces and set sail forTroy to reclaim Helen.

Why didn’t Peleus invite Eris to attend his chdmg celebrations ?

' (A) - She hated people getting married.

(B)— Her presence caused trouble.

(C)  She was unhappy with their wedding.

(D) Shedid not like any wcdciing celebration.

How did Eris react when she was omitted from the guest list?

(A) Shewasglad. - (B). - Shessinistubed
(C)  Sheliked to enjoy thq wedding secretly. @I_/Shcl was revengeful.

‘Who was chosen to decide the winner?

A) Hector | | | __ (B) Zeus
(C)Paris | b  © Mendlaus
Who.Was the most beautiful woman of the time?
(_A.)/Helen . et I.I.J'.(B)I_..Hera .
(C) Athena - . (D) Aphrodite
How long did the Trojan War last? - |
(A) 12 years s (B) Byears
'/10yems ', ) D) 6 years
Which word in the passage means ‘fncndly and generous behaviour toward guests’?
(A) stife - ' T y@z_hospﬂahty :
(©) r(;vénge (D) controversy :
Which of the following words is opposite in meaning to ‘familiar’? |
(A) disfamiliar | (B)  infamiliar
() misfamiliar () unfamiliar
. ~ PTO.



31

32,

33.

34.

35.

36.

37

Which ofthe follgwing rivers does not flow into Arabian Sea?

(A) Nammada . - B) Tapi

(C) Sabarmati g : (D) Godavari

The tropic of cancer does not pass 1hrough which of the following ]r.1d1an States?
(A) Madhya Pradesh : (B) West Bcngal

(C)” Rajasthan : (D) Odisha

The headquarters of UNESCOis at? . ,

(A) NewYork | i ' (B) | Paris .

(C) Geneva et (D) Rome

‘Which one ofthe follpwil'lg is the capital of Uttaraichand? '

(&) Hasidwar TR - o (B Rishikesh

(C) Dehradun . f\ D) Mussoorie

Which one of the follov\nng is the largcst landlocked country in the world?

(A) Mongolia - ~ (B) Nigeria | i
(C) Kazakhstan = v (D) Ethlopla .

Who among the fo]lowmg cnckcters has authored the book “Stralght from the Heart An
Autoblography”'? ' _

(A) Sunil Gavaskar £ © &7 @) KapilDey

(C) SachinTendulkar . " @ Sow Gangly

Which of the following events does 'notl tally with the year?

@  First battle of Panipath—1528

(i) Establishment of EastIndia C,om_pan)"-—'l 600 -

@) DeathofShivaji—1580

(iv5 Permanent Settlement of Bengal —1793

®) @& | C® 0&
(C) (i) & (iii) 1 @) (i) & @)

8 ' ' | Contd.




38. Identify the pairs that are correctly maiched.

() HawaMahal-Jaipur ) 3 "(10 Golden Temple-Amritsar
@)  Qutb Minar-Hyderabad v) TaMahal-Agra
(A) (), (i) & (i) | @) (i), (i) & (iv)
| (9/ (iD), (iii)&(iv; @) (@, (@) &)
39.  Match the hills ofmd;;wviﬂlﬂacirrégions.
() JavadiHills n @ . Baster Ghats
(i) DoddabettaHills g (b) Western Ghats
G - Jaistkils | ' () Purvanchal
(v) PatkaiHills (@ MeghalayaPlateau
@ OOO-OEOMO B OOMH-E.60 O
(O (@) @=®), @) O OO, G0 (iv)-(©)
40. Whoisthe author of the book, “My Expcnment with Untruth”™?
'(A) Gyan C. Jain ik ' (B) MahatmaGandhi
O e g D) A_,P..T.Abd'ul Kalam

4 1 . Which of the following'*palr's is not correctly matched?
(A)  Slave dynasty-Balban ey
B) Tughlug dynésty— Ghiasuddin
(©) Khilji dynasty—Jalaluddin |
(D) Second Afghan Empire—Sher Shah Suri

|

42. ‘Who wrote the famous book “We the people™?

(A) B.R.Ambedkar Pl - ®) JRD.Tata
(C) NaniPalkhivala 5 - O Salman Rushdie
B * o B | b PT.0.
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Immunization technique was developed by:

(A) LouisPasteur—" _ (B)  Joseph Lister
(C) RobertKoch . (D) Edward Jenner
Which of the following pairs is riot correctly matched?
(A) Vitamin A-Macular ' ; (B) Vitamin C-A.S. Gyorgyi

~(C)  Vitamin D-Paul Muller (D) VitaminK~CarlP. Henrik Dam
In January, 2022 which country took over the G-7 presndcncy?
(A) . Netherlands : _ (B) Germany e
C) Austia = | (D) France
Who among the following was not awarded Bharat Ratna in 2024?
(A)M.S.Madhavan s (B) LX.Advani
(C©) CharanSingh - | (D) - P.V.Narasimha Rao
Who won the Dada Saheb Phalke award for best Directorin 2024?

' (,«})/ SidecpReddyVanga + (B)- Ates

(C) ShahRukh Khan' : 4= D) Karan Johar By (‘19_7@

i 2] A

Match the following countnes with their cun‘encnas e

. _ | : ) ~*
@ Belaus ' PLhs- 4 © RS | L
@) Azerbafjan i P URURAI TR @) Manat D b ®
(&) ()-(), (i)~ (), Giii)-(a), (v)-(d) - B)  0)-(), (D)~ (c), (iii)-(b), Giv)-(d)
©)  @-(b), (D)—(@), (i)-(c), (v)-(d) - D)  ([)(b), (i) —(c), (iii)-(d), (iv)-(c)

‘Which of the following states is correctly matched w1th its classncal dance form recognized by
Government of India?

(A)- AndhraPradesh-Kuchipudi . ! ?"-""(B) 3 Kexala—Mohiﬁiyattam zkl\ % ] L%

(C) Kamataka-BharatNatyam ', . (D) Assmn—-Sattnya ‘ '6/_

Find the incorrect matching from the following paus : I

(A) ' MaryKom-Boxing e (B BalChungBhutla—Football

(C) SaniaNehwal-Tennis. ©~  (D)}~Kiran More-Cricket
£ o

, t:ul ! / / ©r
i 10 Contd.
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~ boysoronly glrls‘7 | &
@A) 18 b D) 20
(O ST e D) 24

What decimal of an hourisa second?

o

(A) 0.0025 - - (B) 0.0256 . ;
(©) 0.00027 | D) 0.000126. =
Which one of the following rational numbers represents the number 1,023 ? '
307 | 1 3085 . \ "LE{'
A : : e
@300 < /Q@q o, |
?z
- 1023 wes v 1021 £
© S0 S C T | /%0 )
What is the least number when dmdcd by20 48 and 36 leaves the remmdcrs 13,41 and 29 ( \ﬁ .
respectively? A6 '
; ¥ ' T @& | o
A) 727 o y ol e @) 7200, : e
© 7'%30 : ! Y ) 6§b7

Two groups consisting of 234 boys and 286 gn'ls are to partlclpate in a drill. In how many
minimum rows can all the students be divxded SO that any gwen oW either consists of only

If V1369 ++/0.0615+ x =37.25, then x is equal to

. o ® 70
1 FEs y Pt
© 17 - ® 5

The value of expression : 327 + 3/0.008 + 3/0.064 isequalto:

(A) 3.56 ' - B) 3.60 @}q ..—ei\«}-[ i
' ' e 2.9‘1 :
(C) 3.66 | 1 D) 3.76 @;%"\” o B
p
(- 2 2V
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by 20%

If the price of a commodity is decreased by 20% and its consumptlon is mcreascd y 2V,

f)
then what will be the increase or decrease in the expenditure of the commodlty
(ﬁ«)/ 4% decrease - (B) 5% mcrease :

(C) 6% decrease : D) 7% increase

Suresh invested Rs. 500 for 2 years in SBI. He also invested Rs. 300 in ICICI Bank for4
years. At the end, he received Rs. 220 from both the banks as si mple interest. What must
have-been the rate of interest per annum ?

(A) 6.25% ® 7.5%

© 865% | ®) 10%

Annt gave a friend Rs 11,000. ThlS was to be repaid in 2 yearly installments with arate of
interest 20% compounded annually What would be the value of each mstallment’r’

(A) Rs.6200 " (B) Rs.6,500
(C) Rs.7,200 | (D) Rs.8,200
Ramesh sold a statue for a price 25% higher than the original pnce of the statue. He had

however bought the statue at 20% discount on the original prlcc Wlth the profit of

Rs.2, 025 whatis the ongmal prtce of the’ statuc ?

80 Rs.5.000 B8 : - (B) Rs.4,500
g e N o B WY W)
If the selling price of 40 artlcles 18 oqual to cost price of 50 amcles then what isthe loss or
-galnpercent’? - - &4 Q p = A a Ecos £0
- (A) 20%1055 ; 5 f v _ (B) - 25%]loss
(C) 20%gain , (D) 25%gain

In a 729 litres mixture of milk and water, the ratio of milk to water is7:2.How much water
is to be added in this mixture so that the ratio of milk to water in the new mixture would be
7:37 o & _ L 1-5 9
(A) 81 liters IR RN B B e
©) GAliters LAY g o (DY SBlilerst e

P started a business with Rs 4 000 and after 4 months, Qentered mto partnershlp with some
capital. At the end of the ycar the proﬁt garned was divided in the ratlo At 4 What was Q 5

" contribution to the business ? 5
(&) Rs.7,500 A g e (B Rs. 8,000

(C) -Rs.9,000 i (D Rs.10,000

12 .l Contd._'
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64.  If20% of x=30% ofy= 5 ofz,thenx : y: zequalsto:

(A) 2:3:16 , ot By 18sf0:184 0 v
i O 0l L

65.. Thetatio o | \

. The ratio of the present age of the father to that of his sonis 7 3_ ARCM their ages
will be in the ratio of 9 : 4. What is the present age of the father ? .
(A) 3Syears ; - (B) 38years o @20
- (C) 40years ' g i . ‘(Dy 45years }29/

66.  Pcandoajobin 15 days. In how many dayscan P and O together complete the _same _
if Qistwice as fastas P ? ¥ ® sfrasibas _ ‘ \K"
05\ days i A . (B) 3days it H“.‘
/)/2 REPT A & ) 3day |
(C) 4days 16 & - (D) S5days : s

67. Two housesare in front of ea%ﬁ otﬁcnl.%;th the housels.have chimneys on their top. If the line
joining the chimneys makes an angle of 45° with the ground, then how far are the houses from

- each other, if one house is 25 metres and the otheris 10 metresinheight ? = v AR
(A) 18metres " m b= @/_15 metres o\ (o0
- (©) 12metres - () 105metres - Y o1

68. The average weekly salary per head ofall the employees (supervisors and labourers)ina
factory is Rs. 100. The average weekly salary per head of all supervisors is Rs. 600, while
the average weekly salary pet héad of all labourers is Rs. 75. If there are 840 labourers inthe
factory, then what is the number of supervisors' Pl bt BT T .

S a) 46 T
T s | © 40
6o, pickiout theindirecttaxes from the followingoptions 7 -«
(A) GST, Custbm Duty 80 . (B) Irllcomf;'Tax,-.Corporate Tax
(C)_ Custom Duty, Corporate Tax | . () IncomeTax, GST

70. ~ Ahouse that is valued at Rs. 2,55,000 has been insured for Rs. 2, 24,000. At what percent
(approximately) has it been insured 7 ' ' '

(R - TREI - B) 77.87%
(C) 82.84% % (D) 87.84%

13 e - PTO.
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A bustravels from station P to station Q ata spced of 70 K.M /hr and from station Qto rfta'ﬂt?n
Pataspeed of 90 KM./hr.. What s the average speed of the bus during 1heJoumey

(A) 7578 KMi/hr, @) 78.75KM./hr.

: LA
(©-S0KM/hr e (D) + 80.25KM/hr. 4,4\\
Wlnchof the following numbers is d1v151bleby3 7,9and 11 ? AN R,
(A) 3791 , " Wl g @) Q2079\ ' @ i
©) 8791 A (D) 6392

When the sum of two numbers is multiplied by 5, the product is dmsxble by 15. Which one of
the feilomng pairs of numbers satlsﬁes the above conditions ? :

(A) 341,250 5, : i 6 B) £/240,335 | S
(©) 345,341 A (D) 318,395 e
. Identify the missing numberattheencl ofthe follomngnumbersenes A 98
' 3,11,19,27,(2). ', \
B g g it
@) 39 ,wmp (B) 4 ® B D

O35 gt 10 =~ T,

Two trains are runmng in opposnte dn'ectlons W1th the same speed. Ifthe length of each train is .
120 meters and they Cross each otherm 12 seconds then the speed of each tram inKM./hr. £

(&) 36 _ M—%; @ (B) ._ 72._. 4 \ u{\
CL12 A o

Ifyou purchase Stoys W1th 4rupeesand saIe4 toys with 5 rupees, whatlsthe percentage of proﬁt &S

os 2 ;
(A) 50.5% Qﬁ’ L"'L T @ 5625% s\ sled

=( 1
. | c\\. i tigks
(C) 56.5% IR (D) 5425% ey

A three digit number 4x3 is added to another three di git number 984 to glve the four dlglt
number 13y7, which is divisible by 11. Then (x + y) is equal to !

@A) 1 o ((Lowcux 19 \&/L/%WX%
© 15 7@)11

I_ e s | I Clontd.
,.q—x':z?'?“t &z MKE @ quaur@.)u
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Find the area of a square whose diagonal is 3.8 meters : | K\: ot 2>
T ¥
(A) 17.328q. Mtr. (B) 7.22Sq.Mtr. |
' Mx\*f’ )
(C) 7.52 Sq. Mtr. _ - (D)L-7.725q. Mtr. ne v
Inamixture of 60 liters, the ratio of milk and wateris2: 1. Find the quantity of wa\er tobe £, Y
added 1.f this ratio is to be reversed. g N 6? W’
Mo liters | B) 30liters | mft o gD
(C) S0liters : (D) 60liters ' . (‘79/'
If NOIDA is written as OPJEB, then what will be the code for DEI.;HI ? e
(A) EFMAK (B) EFAMK s @
(Cy”EFMUJ ' ' (D) EFMIK AN\ a\z
: IR Ko
Which number is wrong in the number series given below ? ¢ @
T P , 49 %
2,6, 15 31,56,93 _°\ \ we B '
y No U{‘ (A

X . & ) -
@ 6, \}fu/- o @1 2 /L(?}\
o A T ® 9B | £ e

TFPINK is coded as 1691411, then RED will be coded as : el o
o TRl
' 8
o RN g NR LS
(C) 1853 ~ D) 1954
=
Marathon is to race as Hibernationis to : 0 'S 71
(A) * Winter =~ : : (B) Summer " -
(%Teep s ' D) Bear
Arrange the follomngwordsmameanmgﬁll sequence. _ [,' a( I 2 7 aq
; b) Rain o :
(@ Sun . : ©) & 1© 9 \ 4
(¢) Chid . (d)  Rainbow
(© Happy

(A)_b,2,d,c,e Ram SunLraded A “v(wf,v B) c,b,a,d,e chitel Bait Sun ordod Hep

(®) b,a,c,d, e Musuge\-ﬂdﬂl_wwa“"‘t'a’ D) d, e,a,c,gf;::@“ﬂw.r s WA Mvm"
' 5 " " P Ri%e
A—hf-l')E FGl\'Flfik(L.MJ\o_e—rr—@\—m—g—glo- X
\' 22 24 ¥6 4 Y94 louiL\n e @
. D@LH.L t,e. :
ZY YO UOT e g poN
Lo 22 2425 22 1o |4 18 \* 1o (€ 1Y EEMTY :
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Which of the following pairs of words are differently related ?

, Il(A)_ Kind : Cruel (B)* Slow : Sluggish

(C) _-State : Fresh (D) Tmth:Lie

Raman says, “Anjﬁ mother is the only daughter of my mother”. How is Anju related to
Raman ? -

(A) Brother @) Niece
(C) Sister D) Aunt
Given the following statements, find out the correct answer from the alternatives given below.

Assertipn (A) :  The earthworms reduce the fertility of soil.

~Reason (R) : Theymake the soil soft and porous.

(A). AistruebutR is false @/ Ais false but R is true *

(C) Both Aand R are true * (D) Both Aand R are false

Atest consists 0f 20 questions and the students are awarded ‘4’ marks for a correct answer,
‘—1” mark for a wrong answer and ‘0’ mark for an unattempted question. Which of the
following is a possible number of qucstlons attempted by a student who secured 27 marks.

© 17 = (2T  ® Bys- 2 i _-"-“""

A batsman makes a score of 97 runs in the 15% i mnmgs and thusi mcreases his average by
5 runs. Find his average after the 15" innings ?

@ 1s | @y |64
: - ' 2
Lol A ©) 31 (3
d -
'Wluchofthcfollovwng 1sac0njunct10n? &7 .
(A‘) With o @/Bec.ausel lﬁ-_x ;fw ‘ 'l
(C)- Without L (D) Therefore £

co L B R O : . Contd,
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A and B are two typists. One day each of them wis ivenEE) pages for typing. B finished 40
minutes before A, who took 4 hours for the same. The next day they were again given 121
pages. However, they decided to divide the work in such a way that they finish the typing
simultaneously. How many pages did A have to type ?

(A) 50 i (B) 7
©) 60 (DY 1155 T

3 pumps working 8 hours a day can empty a tank in 2 days. How many hours a day must 4
pumps work to empty the tankin1day? ~ - ' 6%
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What is 20% 0f25% of 3002 . 1§ i %@ -
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The average weight of a class of 24 students is 35 Kg. If the weight of the teacher is
included, the average rises by 400 grams The welght of the teacheris:

(©) 47Kg. et o o D) 48Kg

Avisitor to the town reaches a cross road. Upon askmg re51dents X,YandZ for dzrecnons
to a certain destination he gets the following responses

X i Tumlef ) @ O

Y- : Do notturn left
| Z.= % Go straight Sd 0’13)‘
If only one among X, Y, and Z is truthful, the visitor

(A) should gb left

should go straight -
() shouldgoright |
(D) willnotbeableto decide between going left or right
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cand T occupy the first and the last positions respectlvely

For analysing a problem, decision maker should generally study which of the following aspects.

(A)  Quantitative - (B) Qualitative
(C) Paranormal air 4 - (D)~ Both (A) and (B)

- While addressing people in an open ground it begins to rain. Your address is important and

you cannot afford to postpone it. What will you do ?

(A) Asksomeone to arrange an umbrella .

(B) Stop your address for while I

(C) Continue the address without bothering the rain -

(D). Postpone it for ]ater .

';'here are 7 friends F, JE.; F F, and F, with two digit c'onsecutive Roll Numbers

» Py ¥ Fy
such that all of them are composite and there is no prime Roll Number in between them.

- Whatis F sRoll Number if none of the numbers exceeds100 and 1 the friends are 31tt1ng in

ascenchngorder : .
A) 89 iy g i B) 90
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What does brain storming involVe inthe coﬁtext of problem solving ?

A) Narromng down ldeas (B) Generating averiefy ofideas

( /Selectmg the best solutlon mmedlately D) ignoring creative inputs- :

How many words can be formed by rearrangmg the letters of the word “ASCENT so thatA

@A). 20 A B) 26
© 24 TR ©®) 18

¢ ERE

s
¥ 3

184 Contd. A






